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14 There are 16 hockey teams in a league.
Each team played two mtches sgainst ach ofth othe tams,

Work aut thetoal summber of mtches played.

(ot for Question 14is 2 marks)
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16 A£1 coin weighs 8.75g, correct to the nearest 0.01g.
Mitul weighs the contens of a large bag of £1 coins.
‘The coins weigh 2.63kg, correct to the nearest 10g.

Mitul says

T am sure that the bag contains exactly £300 because,
2625+ 8.755 = 299.8 1o 1 decimal place.

ing bounds,

‘Show that Mitul may not be correct.
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13 (a) Calculate the volume of a sphere with radius Gom..

[The volume V of a sphere with radius ris V=37 ]
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(6 An omament

‘made from a soid glass square-based pyramid.
The base has side length 15cm.

‘Ahemisphera with radius 6cm s cut out of the base of the pyramid
“This reduces the volume of glass contained in the omament by 30%.

‘

Calculate the perpendicular haight of the pyramid.
[T volumo ofa pyrami s 3 area of baso x perpsndicuiar height
Ahemisphers i halfa sphere]

emis)
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4 (a) Factorise.

X2 - 432

(b) Calculate. o

572432

(b)
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11 Sunil makes 7.5 litres of soup, correct to the nearest 0.5 ltre.
He serves the soup in 300mi portions, correct to the nearest 10l
24 people order this soup.

Does Sunil definitely have enough soup to serve the 24 people?
‘Show how you decide.

“
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18 Abvin has a crate in the shape of a cuboid.
The crate is open at the top.
“The intemal dimensions of the crate are 45cm long by 48cm wida by S5¢m high.

Aiin has a sick oflength 95cm.
‘Aiin places the sick inthe crate 5o that the shortest possible length extands out above the t0p of
the crate.

(8) Calculate the length of the stck that extends out of the crat.

(@ e —1
(b) Calculate the angle the sick makes with the base of the crat.

[ [ )
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@

)

Anna estimates the height of a ree.

‘Anna holds a ruler vertically so the height of the tree is exactly covered by the ruler
‘She is 20 metres from the tree.

‘The ruler is 30cm long.

‘The horizontal distance from her eyes to the ruler is 60cm.

Calculate an estimate of the height of the tree.

@) o M3

Give two reasons why this method may not be suitable to estimate the height of a very tall
buiding,

1

2
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13 Ashraf is going to put boxes into a crate.
The crate is a cuboid measuring 2.5 m by 2 m by 1.2m
Each box s a cube of length 50 cm

He does these calculations.

volume of crate = 25%2x 1.2

6m
volume of one box = 0.5x0.5x 0.5
= 0125m*
number of boxes = 6+0.125
= 48

He claims,
“I can put 48 boxes in the crate.”

Evaluate Ashraf's method and claim.
[2 marks]
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‘The table shows information about the population of a city.

Population in 2001 | Population in 2011

420 000 480 000

Liam claims,
“From 2011 to 2021 the population of the city will increase by
the same percentage as from 2001 to 2011"

He works out,

‘popuation increase from 2001 to 2011 = 480 000 — 420 000
=60000

‘population in 2021 = 480 000 + 60 000
=540 000

Does the population of 540 000 match his claim?

‘You must show your working.
[3 marks]
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Aboxis a cuboid with dimensions 27 cm by 15 cm by 20 cm
‘These dimensions are to the neares! contimetro.

DVD cases are cuboids with dimensions 1.5 om by 14.3 cm by 18.2 cm
‘These dimensions are to the nearest millimetre.

192¢m

200m

15 om 143cm

27em 15cm

‘Show that 17 DVD cases, stacked as shown, willdefinitely ftn the box.
[4 marks]
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9 James and Peter cycled along the same SOkm route.
sames took 22 hours o cyele he k.

Peter stared to cycle S minutes after James started to cycle.
Peter caught up with James when they had both cyeled 15k,

James and Peter both cycled at constant speeds.
‘Work out Peter's speed.
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13 A factory makes 450 pies every day.
“The pie e chicken pics orsesk pics.

Each day Milo takes  sampl of 15 pis o check.

“The propartion o the iss i his sample that re chickcn s the same as the propartion of
the pies made that day that ae chicken.

O Monday Milocalclatd that h neoded exactly 4 chicken pis in bis smple.
(6) Work outthe otsl mumber ofchickenpics tht were made on Monday:

On Tussday, the number ofstsk pis Milo nesds in his sample is 6 cormet 0 the nearest
whole mumber.

Milotakes at rndom  pi from the 450 pics made on Tucsday.
(6) Work outthe lvse bound o the probsbiltytht the pi i  sek ic.

(Total for Question 13 is 4 marks)





image9.png
22 The two triangles in the diagram are smilar.

Py

Ther re two possbe vales of .

Work ot cach o hse valus.
St any ssumptionsyou ke i your working.

(Total for Question 22 is § marks)
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23 Here is  rectangle and a ight-angled triangle.

All messurmentsae incetimetss.
The arc of th rctangle i grete than the area ofthe angle.

Find the st ofpossible vales of 3

(ot for Question 23 is § marks)
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’ anmsmo%mmnknnlkmn-m
There areanly 3 clesners o clean all the oo i the hotel todsy:
Each cleane is paid £8.20 fr cach hour o part of an s they work
How smuch il esch cleaner be paid today?

i

(Total for Question 9 is 3 marks)
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18 At time 1= 0 hours a tank s full of water.

Water lesks from the tank.
At the cnd ofevery hour there is 2% less wate i th tank than at the sart of the hour.

“The volume of water in ltres, in the tank at time  hours s ¥,

(Total for Question 18is 1 mark)
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16 The petrol consumption of  car, i litres per 100 kilometres, is given by the formula

00 » Nusber oflires of ptrol sed
Penol comsumption = T of ilometrs travelled

Nathan's ca travelled 148 kilometres, coreet 1o 3 sgnificant figures.
‘The car used 115 ires of petrol, correct o 3 significant figures

Nathan says.
“My car usedless than § ltrs of petrol per 100 kilometres.™

Could Nathan be wrong?
‘Vou must show howe you get your snswer.

(Total for Question 16 is 3 marks)
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9 Jus buys a wasing machine.

20% VAT i e 0 the prceof the waing mscine.
Justhen b 0 pay ol of £600

What i theprice ofthe wasing achine with no VAT adec?

(Tota for Question 9 s 2 marks)
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[T ——
@ Fin ancqution o e of .

) Find the positve vl ofxwhen = 16 g

(Tota or Quesion 131s 4 marks)
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4 Olly drove 56 km from Liverpool to Manchester.
He then drove 61 ki from Manchese 0 Shefield.

Oy’ aversge spes from Liverpoo o Manchesier was 70 k.
Oy took 75 minest dive from Mancheste o Shefic.

(0 Work outOlly's average specd for i oal div fom Liverpool 1o Shffied.

Janie drove fom Barsley to Yrk.

Janic's average speod rom Barsley to Loods ws 80 k.
Hor verage specd from Lecds o York was 60 k.

Janie sy that the average speed fom Barnsley to Yok can be found by working out the
mesn of 80 kn/h and 60 k.

(9 I Janie i costect, whatdoss i el you bout th oo parts of Janic’s journey?

(Tota for Question 45 5 marks)
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Planct | Distancefrom Earth () | Mass ()
Eam o 97100
Jupiter 631 1898 x 107
s 20 610
Merury a0 3302 07
Neptune was e o2 10%
Saum. 20 o0t
Uras e o6 100
ems e w560 < 10

(4 Wete down the nameofthe plant ith the gretestmass.

u.
(6 Find the iffrenc beweenthe s of Veous ad the mass of Merey.

W
Nishat sy thr Nepe is over  hundrd s furtherawy fom Esththan Vemus .

(@ I Nishat g
o must show how you gt your answer.

@
(Total for Question 10 Is 4 marks)
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4 Daniel bakes 420 cakes.
He bakes only vanilla cakes, banana cakes, lemon cakes and chocolate cakes.

2 of the caes are vanil cakes.

35% of the cakes are banana cakes.
The ratio of the number of lemon cakes to the number of chocolate cakes is 4:5

‘Work out the number of lemon cakes Daniel bakes.

(Total for Question 4 is § marks)
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§ One shestof A3 card s ares o
et s 60
S

(Total for Question 5 is 4 marks)
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7 Ashophasa sile

Miczorave oress Combination oress

1 ot normat price 40% off nomal price

Amicromave oven bas 3 sale price of £90
A combination oven bas = ol prie of £54

‘Which of these orens hasthe greater normal price”
You mustshore allyour working.

(Total for Question 7 is 4 marks)
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Fre et g
5, A 5 =
EA L D

(Ons of e s conld s e Tt el proporsonsl o3
() Wit dors e e of s g

——

(Totalfor Question 6 s 4 maris)
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12 Sean drives from Manchester (o Gretna Green.
He dives at an average specd of S0 mph or the frst 3 hours of i founey:

He then has 150 miles t drive o gt 0 Gretna Grsen
Sean drives these 150 miles at an average speed of 30 mph

Sean says,
“My aversge sped from Manchestr o Gretna Ciren was 40 mph.”

s Sean ight?
Vou mustshow how you gt your answer

(Total for Question 12 is 4 marks)
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7 Bocky has some maries
s ha o tmes 15 many marbls s Bk
Dun s seven mare marbes thn Chis.

They Rave ol of 57 marles.

Dansays,
1 give some marles o ecky, cach o s will v the same umber f arbis”

s Dan comect?
You st show how you gt youranser

(Total for Question 7 s 3 marks)
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16 The histogram gives information about house prices in a village in 2015

Frequency
ity

"

100200 00 400 500 600 700 800 900 1000
Prce (£ thousnds)

20 bouses i he vilgs ave  pric beween £300000and £400000
Work ot the mumber of houses nthe ilage with  prie under £200000

(Total for Question 16 is 3 marks)
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99.7coret o deal pscs,
=67 comet 102 sgnifican fgures.

Work ot sn uppe bound or D,

(Total for Question 22 is 3 marks)
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20 Mark has made  cay mode,
He il now ke cly statue that is mathermticaly simila 0 th clay model,

The model s b area of ey
The sate will have  base area of 253 S

Mark used 2k of clay t make the model

Clay i sld in 10kg g,
Mark has 0 by al the clay e nesds fo make the st

How many bugs of clay will Mark need t0 buy?

(Total
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7 There are 1200 sradems st school.

ate s blpng 0 onpais  pary.
She's gong o order pizm.

at ke 2 sample of 60 of e studens t e schosl
She s each student 0l b ome pe f iz hy At

F T —

(Cluta for Question 753 mark)





image28.png
4 Axel and Lethna are driving along a motorway.

‘They see a road sign.
‘The road sign shows the distance to Junction §
Italso shows the average time drivers take fo gt to Junction §

To Junction §
30 miles
26 mimtes

‘The speed limit on the motorway is 70 mph.
Lethna says
“We will have to drive faster than the speed limit o drive 30 miles in 26 mimutes.”

Is Lethna right?
You must show horw you get your answer.

(ot for Question 4 is 3 marks)
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5 Homy i tinking of having a water meter.
Thss s the v ways b campay o he s B s,

s

91.22p fo very cubic mese of aerwsed

1 cubic mers = 1000 iz

Henry wses an sverage of 60 lies of aterexch day

s i nformationtodeermine hthe o ot ey should Bave & vater etz

(Total for Question § s § marks)




image30.png
7 The diagram shows the plan of a floor.

25
=t
R . Diagram NoT
2= 2= accumly &
o
b d
Tom
Angie s going tovamish e flocr.

St ness i ofvmish o S5 of S
Ther e 25 s of v exch o of v

Angiehas 3t of vamish.

Doss she have enough vamishfr all e floer?
“You st shore alyo working.

(ot for Question 7 is § marks)
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“4 A shop sells bags of crisps in different size packs.

Theresze
18 bags of crisps in 2 small pack
20 bags of crisps in 3 medium pack

26bags of cisps i 2 lange pack:
Crispe
Criss
o
o 0 %
b bass
bas =
4 emchpack. £459 sxchpack £600 b pack

Which size pack i the best value for money”
You must shore all yous working.

(Total for Question 4 is 4 marks)
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s b s o 052
Hotas abeighrof 57

R —
e your amsercort o S0 decimal place.

Tom's eights 1s0m.
e wants s body mass index e 21

@) Work ot th uass il give Tom  body mass ndex o 21

Tomis s jmper

The maximmm ength of i e can e i 145% of i eight.
Tom's beight s 180m.

(© Work ot the iz gt of ki Tom can e

(Total for Question 6is 7 marks)
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11 Colin works on 5 days each week.
Each day b drivs rom his homa o work nd Fom ok o i home.

Colnpays £3.50 exchday o e theca kst otk

The e o o' bome vk s 16 e
Coln'sco e ane gallonof el vy 45,2 s

1 tie of e coss 13699
1 gllon=2546 ires

ok ou e ol cotfor ol o i o ok e sk
Vou st sl yo orking.

(Tota for Question 11 s § marks)
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"9 The diagram shows 2 container for oil.
The comainer s th shap of 2 ubeid.
The coniner ¢ sy

Sally s to 1 e conainer it il

oo ofoi coms £330
There e 3000 of ol . esch bt

‘Sally mast ot spend mre han £60 buying the ol

Can Slly by enough o 1 e conaner?
“You st sho al your wosking.

‘Disgrazm NOT
accarmly v

300

(Total for Question 9 is 4 marks)
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3 Aliisyyearsold.
Bhovars s e 5 old ¢ AL
(Ceriis 3 yeus youmges tam Al

The toal of her ages is 125 yeas.
Work out e sge ofexch pason.

(Total for Question 35 4 marks)
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4 Tomis going to buy 25 plaats to make s hedge.
Hare s sornaion sbost s cost of buying heplats.

Kirsty's Plants Hedge World
EET, ackoras

£5250 s VAT s 20%

Tom st by the 25 plas s chesply 35 possvl.

‘Should Tom buy e plans from Kirsy's lans o fom Hedge World?
“You st shore all yor voring.

(ot for Question 4 i 5 marks)
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*§  Redlands School sent x studeats to a revision day.
St Samual's Schol sen tvice 2 many students 25 Redlands School.
Francs Long School sent 7 fever students han Redlands School.

‘Bach student paid £15 forthe revision day.
The stadens pad 2 total o £1155

‘Work out how many students weresent by each school o therevision day.
You must show all your working.

(Total for Question § is § marks)
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21 Fred is making tvo rectangulr lover beds.
The dmensions of e larer Tcungl il e e s e dmensons of e smaller

recange.

Tare s gong o be th same dephof s i ench flower bed.
Fred neds 180k of sl o s sl e b

Work g o s sl Frd s ot g S b

(Total or Question 2152 marls)
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22 Claire is making 2 loaf of bread.
Aloa afbread oses 124 o s eight when 5 bakad.

Clsire v e bk st of e t i Llke.
Wk g e g f eI of besd befrs s bkl

(otal for Question 221 3 marks)
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"6 Steve wans to ut » hedge along one side of his garden.

‘e needs to buy 27 plants for the hede.
‘Each plan costs £5.54

Stave hss £150 to spend on plts for the hadge.
‘Doss Steve hve enongh money to buy all the plants he nesds?

(Total for Question 6 is 4 marks)
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11 Ria is going to buy 2 caravan.
The toal ot o the cararan is £7000 plas VAT st 20%

‘Ria pays a deposit of £3000
She paye theres of thetots cost i 6 squl monthly pryments.

Wk ot the smort of each moathly paymest

FE—

(Total for Question 11 is 4 marks)




image42.png
14 Suba has 3 full 600 m/ botele of wallpaper remorer.
She i going to mix some of he wallpaper remorer with wter.

Her s the informution on the sbelof th botle.

Wallpaper remover
s00s/

Mix § of the vallpapa semorer
i 4500l of wter

Subais going to wse 750 ml of water.

How many millives of wallpaper remorer should Suba se?
ou mus show your working.

(Total for Question 14 is 4 marks)
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1 Here are the ingredients needed to make 10 pancakes.

Pancakes

‘Ingredients to make 10 pancakes

300m/ ofmilk
120g  offlour

Matther makes 30 pancakes.
(8) Work out how much flour he uses.

@

Tara makes some pancakes.
She uses 750 m of milke.

(b) Work out how many pancakes she makes.

@

(Total for Question 1 is 4 marks)
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11 Saphia is organising a conference.
Pecple tthe confrence will it ¢ crcula sbles.

—

Diagram NOT
accurly dravn.

Eoch tble s 8 e of L0cm.
Euc person needs 60cm sround the circumference of i bl

There e 1 of s bl i th confrence o,
Atota of 90 pecpl will et e conference.

Arethere enough bl i the conterence room?

(Total for Question 11 is 4 marks)
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4 M Brown aud his 2 children are going to London by train.

A ke conts £24
A child ket couts £12

M Browe has 2 Family Raleard.

‘Family Raileard gives
1 off sl ckers

0% off cild tickets

Wosk oxt th ttslcost of e ickss hen M Brow uees bis Fasly Raileard.

FE—
(Total for Question 4 is 4 marks)
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4 Maise nowstht s needs 3 kg of grass seed to make & sectnglar v Sm by 9.
s s ol n 2 b

‘Mo wams o mak  rcangular v 10m by L4m.
St s  boxes of gass seed..

(6 Has M got enongh grss sed o makea v 10m y 147
“You st o al s vorking.

‘s apens e  bons of gassseed

St s it 4 o o o cotin b of g el
The e b comans 1 kg of g seed.|

() Does s alfct whether Maiie b enugh gras sed o ke v
i  reson oy s

Tota for Question 41 5 marks)
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11 Here s a plan of Maran's drvevay.

Diagiam NOT
sccuaety devn

— e
‘Marn s goig o cover s divemay i el

The grave vl b S cndep.

Govelisseldmbugs.

Thare sre 0.4 of rael i exch bag.

‘Eac bag of gravel costs £33

Marn e sconnt of 3% of e cost of e el

Wk o i ol amovme of money Marn pays frthe gravel.

(Tota for Question 1 s § marks)
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1 This is a list of ingredients for making chicken soup for 4 people.

Ingredients for 4 people

60g  butter
300g  chicken

150ml  cream
1 onion.
640m/  chicken stock

Bill is going to make chicken soup for 6 people.
Work out the amount of each ingredient he needs.

S—
e & chicken

el chicken stock

(Total for Question 1 is 3 marks)
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7 Rita i going to make some checscburgers for a pary.
Shebuyssome packets of shees lcc and some boses of burgers.

Ther are 20 choss sl in e packe.
Ther are 12 burgers ineach box.

Rit by exctly the same manber of hecse lces and buers.
) How many packes of checse s nd bow many boxes ofbugers dos he bay?

packes of chese stices

boxes ofburgers
Rit want 10 put one chese slice ad ane burge o ssch e rl.
‘Shewanst e al the chesse sl ad all h brger.
) How many beead ol dos Rih need?
b ol

(Tota for Question 7 s 4 marks)
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6 There are 130 adults at a language school.
Eachadalt sudics on o French o Spanish o Gorman,

96 of thesdults are women,
12 ofthe women sty French.
7 o the aduls sty Spanish.

55 ofhe women stdy Spanih.
9 f the mcn sty Gorman.

How many oftheadls sy French?

(Total for Question 6 is § marks)
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13 Axel and Lethas are diving slong a motorway.

Theyseea o sign.
The road sgn shows he distance 10 Juncion §
I shows the average e divers vl ake o g 1o Juetion 5

To Juncton 8

S0mikes
26 minutes

“Thespes liit o the oty is 0 mph.
Lehna sys.
We will Bave o drve st than the speed Tt 0 80 30 s i 26 minues”

Is Lot ight”
You must show bow you got your amswer

(Totalfor Question 13 s 3 marks)
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23 The table shows information sbout 1065 students.

ear 1o

[
|
s
|
| vern

126
n
[
5
=

|
|
|
|
|
]

Flena takesa sraified sumple f 120 studnss by yea group and by gender
Work outthe numbe of Vear § emal stdent i her sample.

(Total for Question 23 is 2 marks)
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15 One sheet of paper is 9 x 10° e thick

Mk a0 put SO0 shects f pape o the aper iy o i et
Thepapr tay i cm dp.

I the pper tay doepenough oS00 shsts of paper?
o st explin your answer:

(Tota for Question 15 s 3 marks)
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2 Hereis a st of ingredients for making 18 mince pics.

Ingredients for 18 mince pies
225 g ofbuter
350 g of flour
1003 ofsugar
250 g of mincemest

Ve

Elsine wants to mske 45 mince pcs.

Eline has
kg of bt
15 of flour
500 g of sugar
00 g of macemcat
6o
Docs Elin have cnough of ach ingredicnt o make 45 mince pi?
You mut show clely how you gt your anawcr:

(Total for Question 2
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% The disgram shovws the pln of 3 playground.

il oing 1o coverthe playground with e
st £2.5610 cover eachsre et with e

Work ut e totalcost o th e il e,

Disgram NOT
sccurely dcawn

(Total for Question 8 s 4 marks)
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21 1o Holborn Schoolthere are
460 st i ey Stage 3
320 st n Koy Stage
165 s i Koy Stage

Nimer s cayingout sy
Henoedsa sample of 100 studenssaiied by Key Sisge

Work ot the umber fsudesfom Key Sage 3 there should be i he saple

(Tota for Queston 21 Is 2 marks)
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2 Deon needs S0g of sugar to make 15 biscuits.

She aso needs
thre imes s much four a5 sugar
v times a5 much bt 3 sugar

Deon s goingto make 60 biscuits.
(a) Work outthe amount of flour she necds

Do has 0 buy all the buttr she necds o mke 60 biscuits.
She buys the buttr in 250 packs.

(6) How many packs of battcr does Deon necd to buy?

(Total for Question 2 i § marks)
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*2 225 grams of flour are needed to make 9 cakes.

Marian wants to make 20 of these cakes.
She has 475 grams of flour.

Does Marian have cnough flou to make 20 cakes?
‘Vou must show all your working.

(Total for Question 2 is 3 marks)
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6 Mr Watkins nceds to buy some oil for his central heating.

e Watins can put up 101500 lives of i in s of k.
There are aveady S50 e o i the k.
e Watins s going t il e ak with ol

“Theprice of il s 67.2p per .
e Watkins gets % of the pic o th il

How much doss Mr Wtkin pay fos the il b necs 0 buy?

PR
(Total for Question 6 is § marks)
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23 The table shows information sbout the ages,in years, of 300 students.

[eomm W e T w [ e
ot | 0 0w | w | s | @

1an ks  sample f 0 o these sudents,saiid by age.
Caulate the mumber o 16 year old studens e should have i bis sample.

(Total for Question 23 is 2 marks)
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1 Here are the ingredients needed to make 16 gingerbread men.

Ingredients
to make 16 gingerbread men
180 g flour
40 g ginger
110g butter
30g sugar

‘Hamish wants to make 24 gingerbread men.
‘Work out how much of each of the ingredients he needs.

(Total for Question 1 is 3 marks)
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3 Here is part of Gary's clectricity bill

( Electricity bil

Newreading 7155 units
Oldreading 7095 units

Price perunit 15p

‘Work aut how smuch Gary has to ay forthe unitsof lectrciy he used.

(Total for Question 3 is 4 marks)
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7 Here i 3 diagram of i’ ganden.

Disgram NOT
2o accuraly dave

i s 0 cover his garden withgrs sed 0 make v,

Gras s s i bugs.
Ther i cnough rass e cach b 1 covr 20 m? of garde,

Each bag ofgras sod costs £499
Workout the leastcost ofputing grass s on Ji's gaden.

[
(Total for Question 7 s 4 marks)
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18 The diagram shows pat of 4 ptien made from iles.

Tea

Disgram NOT
accuraly drawn

TeA | Tiea

Thea

“The patern s made fom two types of s, le A and e B

Both e Aand tle B ae reguar plygons.
Work out the mumber of sides e A s,

(Totsl for Question 18 s 4 marks)
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3 A company sells boxes to factorics.
Fred buys boscs.
The boxes ae soldin packs of 1000
Each pac costs £193.86

Frod onders 3 packsof s,
He ges a discount n his sl orde.

The abl showsthediscounthe il get.

[ Tewomer | Discownt |

‘Work out the total cost ofthe o atr the discount.
ou mustshow your working.

(Total for Question 3 is § marks)
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7160 cm of gold wire has a weight of 175 grams.
Work out the weight of 210 cm of the gl wite.

(Total for Question 7 is 3 marks)
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2 The diagram shows a patio in the shape of a rectangle.

Disgram NOT
accurudly dawn.

Tom

“The pato i 3.6m long and 3m wide.

Mathew s oing 10 cover te paio withpavingsabs.
Each paving sib s & square o side 60,

AMathew buys 32 fthe paving sabs.

(@) Doss Matthew buy cnough paving sisbs 0 cover the atio?
ou must show llyour working.

“The pavingsibs cost £5.63 cach.
(6) Wark out thettal cost o he 32 pavin sabs.

(Total for Question 2 is 6 marks)
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4 A container is i the shape of a cuboid.

oem

The containeris 2 full of water
3
A cup hods 275 o vt
What s the retest sumber ofcup tha can b completely Fled with wter rom the cominer?

(ot for Question 4 Is 4 marks)
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"3 Bill uses his van to deliver parcels.
For cach parcel Bill eliver thre i 3 e harg pas £1.00forssch mile.

Vou s the grph 0 i the ot cost of aving paseldeivesed by Bll.

Loy s sz 2z

L T O T TR )

Distance (miles)
(8 How mach s the fixod charge?

W
[TTpp—
For cah prcel Ed delivers  costs £1.50 for cach mile.
Ther is oo v chure.

(6 Compar the cust f having a parcel deliverd by Bill it th ot of having  parcsl.
dliverdby B4

®
(Tots for Question 3 s 4 marks)
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6 Here are the ingredients needed to make 12 shortcakes.

Shortcakes

Makes 12 shortcskes

Sog orsugar
2008 orbuer
208 ortiou
10 ofmik

Liz ks some shotakes.

She w25l of milk.

(0 How many shorckes docs Lz make?

Roberlas  S00g ofsugar
10003 ofburtr
10003 of four
500 o milk

) Work ot the resest umber of shorcakes Rober can make.
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12 Jane has a carton of orange juice.
The caron s the shape ol cubod.

I Disgram NOT
accuraely drawn

>

The depth o thecrange e inthe caron s Sem.

Janecoses thecarton.
Then shefums th atonover s that it stands o the shded e

Workout the dep, i m, o the ornge e nov.

(Total for Question 12 i 3 marks)
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M Wenver i sing 10 spead felsr over ll he grass.
One b of feruleswil covr 25 of grss.

How many boses of frilscrdocs Ms Weaver nod?
ou mustshow your working.

(Total for Question 5 s § marks)
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6 Polaioes cost£9 for a 125 ke bag af a farm shop.
“Th same type of pottoss cost£1.5 or 2.5 k bag ot 4 supemarket.

Wher are the potatoes the et vale,athe fam shop o the supermarker?
You mustshow your working.

(Total for Question 6 s 4 marks)
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*15 Henry is thinking about having a waer meter.

Thes aethe two ways e can pay for the water e ses.

Water Meter No Water Meter
A charge o £25.20 pr year A charge of €107 per year
plas

9122p for very cubic et of watrwsed

1 cuble metre = 1000 ltres

Henry uss n average of 150 lies of wter cach day.

Henry wans 1 pay a e a possible for the watr be ses.
‘Should Henry ave  watr meter?

(Total for Question 15 is § marks)
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23 (2) Max wants 1o take & random sample of students from his year group.
@) Explain what s meant by a random smple.

() Descrbe 3 method Max could s 0tk i randomn sumpe

Lisa akes s sample f 100 students by year group.

Wk ou the number ofstudetsfom Yo s s in b sl

(Total for Question 23 Is 4 marks)
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3. Fred buys 18 tins of polish costing £2.37 cach.

() Work out the total cost.

A vacuum cleaner costs £85
Fred gets 10% off the price of the vacuum cleaner.

(b) Work out how much he has to pay.

(Total 6 marks)
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4. John osds  tyesfor bis .

He pays for 3 tyres ad et one e .
The e cost £65 cch plus VAT 11 20%.

Wark out how much i ttal Jon pays frthe tyss.

(Total 4 marks)
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1. Here s a list of ingredicnts for making 10 Flapjacks.

Ingredients for 10 Flapjacks
80 g rolled oats

60 g butter

30 mi golden synup

36 g light brown sugar

‘Work out the amount of cach ingredient needed to make 15 Flapjacks.

& olled oats
& butter

i golden syrup

& light brown sugar

(Total 3 marks)
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& The diagram shows 2 floor in the shape of a rapezium.

10m

o ey

o is going 10 pain the flor

Each Sl i of paincosts £1699
i of i covers an ara of 20

o s £160 0 spend o pain.

Has John ot cnough money 10 byl hepint b necds?
You st how how y0u gt your answer.

(Totl for Question § s § marks)
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6. Each exterior angle of  regular polygon is 30°.
Wk out the b of sidesofthepolygun.

(CTotal 2 marks)
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16. In 3 sale the norml price of s ook is recuced by 10%.
The sae price of the book i £4.36.

Calulate the normal pric of the book.
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2. There are thrse secondary schoos in Baniey.
“The table shows th number of stdent n ach of thee schls.

Adis Collgs_|_ Gretaw High | Fripp School

Germin akes  sample of S0 studntsszaified by school.

Wark out the mber ofsudents rom Greslow High i the sple.

(Total 2 marks)
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7. Paud drives 175 miles o 8 mesting.
B company pays im 7p forexc e

Wk o b i e compasy pays el
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10, Lizsie bought a van. N
i ol cot f o o s 6000 plas VAT 1730

Lissepeid £3000 v sh gor e v
b pd th et of et o of e 1 2 10 e oy pness.

LT TSR —
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25, The e shoms infomation sbowt e sges, i yers,of 1000 eeagers.

[z geary) FENN T B I I
[Number o tesnagers| 155 | 190 | 165 | 1 | 131 | 05 | o

‘Sincne ke  sampl o 0 f s eegers, safid by age
Crcuate e mumber of 14 yea lds she shovld have i ersanple.

(Total 2 marks)
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4 Horo . st o ngrdionts 1o make melon soret for & pople.

‘Welon Sobet
o 6 people

20g melon
4 eggunies

1 e
H

100 castrsugr

Tery makes melon st for 18 pple.
) Werk ot how much caster sugar b s

Hatley makes meon srbel.
Hauses 2 lmes.

8) Work ot how many peopl ha makes melo sebe or.

(Total 4 marks)
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w

Al consiner has 195 s of wle il
‘Acup holds 210m/of walr

AL ot 92 cps can b il compltely from the walrcantaier
Expainuhy.
ou st shom all your working.

(Clotal 3 marks)
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1. Here is a lst of ingredients for making a tif

le for 4 people.

Trifte for 4 people

1209 of raspberry jelly
8 sponge fingers
420 m/ of custard

1809 of tinned fruit

ing to make a tifle for 6 people.
Work out the amount of each ingredient he needs.

g of raspberry jelly

sponge fingers

miof custard

of tinned

(Total 3 marks)
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10. A computer costs £360 plus 175% VAT

Caleslas e otsl cost of the compuer.

60

i
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“The dingram shows solid metal cuboid.

Th e of thre of the e ns msked o the digram.
The engihs, i cn,of h edgs o th cuboid s wholesumbers.

eat

1sea
seat

“The et uboid i s and v oo cubes.
Each of th cubs has sdes o kngth 2 S,

Work ot the retest e f these cubes hat can be made.

(Total for Question 8 s § marks)
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21, . sele, nomual rces aerdaced by 1%
The sl pic o a gl cmer s £132.88

Wtk o e normal ic of e dighal camers.

(Total 3 marics)





image87.png
24 el e s s s
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10 The diagram shows Jane's lawn.
Itis in the shape of a square of side 36m and three semi-circles.

Nottoscale

‘She is going to spread fertiser on the lawn at a rate of 30g per square metre.
“The ferliser is only sold in 10kg bags costing £15.80 each.

Calculate the cost of buying the bags of fertiser for her lawn.
You must show all your working.
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393303

(258353 by g s o o1 st e

ot v o

(a) Showthat Nina's answer is 64, 5]

(b) Calculate the error in her estimated answer as a percentage of the exact answer.

() %
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10 Nine consecutive numbers are written on a 3-by-3 grid.
They are arranged, in ascending order, i a spiral as shown.

(a) Karen writes the numbers 3 to 11 on her grid.

3 (a5
1016
9|8 ]|7

The total of the first column is 3+10+9 = 22.
Karen says
The total of the first column s one less than the total of the second column.

Show that this is correct for Karen's grid. ]
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(b) Victor says
If any nine consecutive numbers are arranged in ascending order in this spiral on a
3-by-3 grid, the total of the first column will always be one less than the total of
the second column.

Prove that Victor s correct. C]
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3 Edhasa card shop.
(a) He buys a particular card for £1.20 and sells it for £1.68.

Calculate his percentage profit on this card.

(.

(b) Ed's profit on “Good Luck” cards in 2018 was £360.
This was a decrease of 20% on his profit in 2017.

Work out Ed's profit on “Good Luck’ cards in 2017.

()£
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1 Agrain of salt weighs 6.48 x 10 kg on average.
A packet contains 0.35kg of salt.

(a) Use this information to calculate the number of grains of salt in the packet.

() . .21

(b) Explain why your answer to part (a) is unlikely to be the actual number of grains of salt in the
packet.
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/Abag contains some counters.

[ ——
" T ol ot e cor e g
T ety i o om0

L et como o comes 51

Calculate the number of red counters in the bag.

“
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5 The depth of water in a garden pond is 57.8cm.
The depth decreases by 0.3cm per day.

(a) Assume the depth continues to decrease at the same rate.

After how many days will the depth reach 54.2cm?

(a) days [3]

(b) If the depth of water decreases at a slower rate, what effect will this have on your answer to
part (a)?

-




